
'am 7114



15.3.22 in# POND GIG D-(HR ☒I'D DIG #
17M

-

µ MOD DIGOXIN DAB IND
☒

plot

71300k

71363
DESK

03RD ME
* is#
☒ is

-DIED 5kW 1173 DNO
p⇔B *MI PAN

3'D DODD

JIND DDB
*A MLN

⇔ DM

P' '71013 PIRI p ' >31N
- t

☒DID spoon $w☒ bi RBA

D) DO
, DDD,

I

D)⇔ ) µ'D , C. IN
, HID HIM

- WIN

2M AIK AD e Be NDA ) 31N

☆N like INN e)ID XK ☒Nor Ko

-

ex 3 ID ☒ON #NND%

MM DDB ☒KD PPK poi PAAN ko p W

PAN D)83NKD



BID ABID -2

PED@ 8 ☒DON 23W IKPB I#⑦
D)☒8D BND PDDK

-111 KIND ⇔

⇒DID 3117 ¥00B - k

*"D
,
D8

→11T£→D)3×-102 -0

b) , DNC f)DB

BID HOOD e) DID DODDDI

IDI'D DDB 'D →☒OD -K

⑦ HAD ☒☒DAN

→④ BID MID -D

[DODO XDIKK ) DENND

DAD XABI -3
H'37 Kd EDM k⇔☒ ⑤ POW ☒N ☒

⇐☒c) AN NJ 371003
⇐3☒k) -3N DDDZ PWN "Ñ

' 3N DX DI#

?⃝D8 8
, *D sik 73

' 's D8 DAN
714PM →2)D) MAN ¥8 , DEAK



TANND DA -4

f. . ☒00 PM ,#a & IN MW ① ☒war

7M I '

*In#

73RD 1850DID
€2k ADD

☒ D8 #DX D&d

MBK#3
→ AND

?⃝Me

☒☒☒Ñ / DAD -5

:S He ☒AN

2*0*8 D)ODD DAY ☒DE DAD
→DID f)203 I DODD ①D ✗

' 4471130

POND 3*7

☒33 7£
>DID
⇔ ⇔ DX HBD ② DINH
DEM⑤☒ ✗K INNS 133 Plow

13PM /ME 234 PAN IN DENN#CBD☒ e) DID

✗ODD Xp)Ñ DID 3)BD Eee ) Pious
Pk 1431 pm /He ik

ADD AND 1%1 RON PININ I#☒☒
✗11537 Pity

¥0BN DX D)DE ON gipkpis@w →☒DIDI '②



HANG 1311- ☒
,
DINO DD- DD ) P'ON %

fail PDP ) We 'N D8 DOIN DO 1

TI ☒☒ HOW A

DODD $ if ✗⑤GHB $ MAN # e) ON

* DIP ON , 03N, ?⃝DSK , b)☒ I ☒
,
(A) BON ☒ ON

@No ear 21000) →MODO - FR ON

NO ¥3B ) OND##e w go Xp YKD IF ON

DANO OND Dk>DAD

D8 8 spot OND IDK

TD pass eat at

D)ODD 8 PM@N PAD ' MON

@"#MID ON
,
INKED ON DODD ON

, IN
7*3 ,six ,

XD37 - PER eat

PYON Ho ☒N I →☒ Is
@New ) D R PEND XD SDK

☒ I ☒DID , # ON) DODD 0 BAC D8 POW ☒02

④a*KID ON)W,
☒⑦N 8D? IDK - ON K2

(NIKE

ON &Nd, ☒PE DDD D⑧ OND 911710 - ☒ODD

.
SHO ON JIAN PO DODD

7013307 2311 ODD 3)PIC ☒ - D) 07



☒ DID HOW

µ I D)De PDM# 317K - D

-50171 f)NJ PHI
) HOW 3117k

-⇔TxÑkNeB

DX OND 311714 ⇔ POINT ON3%0 D

? 3000,250° 0 200038

0.20 2000-3000

0.30 3000

TD (25003=2000-01-(2500-2000) • 0.20=0+500-0.20 =

100

10-0
2500--0-04=4.1 .

TD(3500) = 20000+(3000-2000) - 0.20+(3500-3000) -
0.30=0+1000 • 0.20+5000.30=350

350

-3500=0.10--10^1.



 1עמוד  חרובי  פרופ' נאוה ©כול הזכויות שמורות 
 

 פרופ' נאוה חרובי 

 ב  כלכלה

 חוברת טבלאות 

 להביא לכול שיעור
 

   : התערבות ממשלה1שיעור 

 א. דוגמה________________

 ( 10%)נניח   : תשלומי מע"מ1טבלה 

 הכנסה 
 

שיעור המס   סך מס  קניות
 מההכנסה 

1,000 
 

800   

10,000 5,000 
 

  

  רואים כי 
___________________________________________________________________

___________________________________________________________________ 

 

 

 

 

 

 

 

 

 

 

'

ON

☒
1000=81 .

800
too 80

SOO

-19000--5 't ¥,¥ 500

16 311714 # ODD MN
NÑD & 31*3

,#27
ON ⇔ NÉND De# 2711 70350 Hime,

105853 80010N

•
DODDTAXI # IDN HPD 9117k



/ "ND DDB µ 7

DODD ON

'DOTED
,
HI

Jon
*⇔

, %

☒ DODD one I
3711 Dpl µb 'k

XD 21088 1137 #

☒ wine
☒ DODD →Fix He 1k
8D Ik 210881137 #

DDB 731N
, ?⃝ ?#2 1¥38 IDK)☒D ☒☒

.

IBM BD DX@DX

☒DX PAD 8 KM 2502#XD Dk Dft



☒No ⇒ D ADD BPD→BN

.
.
.

. -483# few → ?⃝DX

HE Nkf ⇒D- e'

Gross National Product= GNP
,
MG

☒ ND ☒ BE DN G ⑥ BOX POD ☒

⑦ PDDZN *

NPN → - eÑ

Gross Domestic Product = GDP WE

☒ *ND DAD DID DN G & ☒⇒ POD

Betray#D -Rko → D)+2¥ éÑ

e⇔⇔

☒XD G & PROB ☒ KID ÑD -HIDED
D ?⃝NO POND ☒% e-☒ OD e)BAD



① eÉ⇒

D) ACD
,
#B)XD# XD#KID ) PDP : PDA

PID 031N N☒ ,
⇒BE e)Wet :P-☒ Op> 531N

(PNP →NAH) ☒
'D p☒7D DR EDDI

⇔ TBD PHI ) ⇔ D8 ÉD DAD : II

☒N
10-0=10 to HPD DX

" "°" "
"" f ""

25-17=8 25 ☒1k ☒

XIN
27-25=2 27

pills ☒

KID DPW

( 731N) & µ
BOND 8D PDOIK



D DID

AD GI pi ND PIED & PDO XD ÉÉD
→ INDI *DAD G & 3)NA

DID 7GW pass 530

? It' PM## DID ☒

27k p 317k DO

73108 DID - POON p#

? "⇔ e' *

→MI IK) I →31N I] POND MIN II
' P'DX

☒ BAKED pet pink pox Pe HD D

⇐☒ "ON

E

? 1 PAINS INANE →DPD t

ILD DIS - PIN )P3 1

31 XP -

☒☒NONNA , #08) is>312

D)DDB ☒B - ⇒Got 3

KB" - y



AND e' :& ☒⇔

AN PASINI →XP AND µD☒ e'
- KID'D

News DNI paths# -→XD To # KA' 'D

É

☒ "⇔"""

/
""""" ""

232 ☒ = ' Investment

260 ☒53--0 Government

357 KB" =EX Export

1,486 ¥

KD" OH pious= e /

GNP __ 1,486-369=1,117 369 = IM =D"

CtI+G-EX few 30

GNP = KNOW AND = eh



→⇔ AM

BED DID if 4 →⇔

p p' ON- PAN & TO] paid ☒☒ 01.1
e)DOWD ADOBE.DK 1K 173% e)③10 PAIN

i KS -PND pin'P >PIPPIN e) II.2

*B) DX ) DA 3111k¥

☒PDX)3D' KI'D -DODDS DODD ¥8B II.3

IN HK,MICK, DA ,
DI DAD %

33501k

D8# e' ☒ -

POD ☒ PDX KD PAIN if I

exist 23W it#De 3W iÑ KOPE
,

"

☒☒

. Hey XD D8 1k @ A) NBD



29.3.22 I 7) DAD
3 He

369 - IM =Hail Boy µ,
¥É

637 JED € Consumption

= GNP = z 232 ☒331%03--1 Investment

1186-369=1117 ⇔ ⇒⇒?⃝ averment357 143" = EX Export

154 =D = ,#

1,486 ¥

.MX#DlpeN)eDs3D&5xypDpo-C--yEBXD3t
. I→31N PD

* ②ED HAD ☒
,

NAKED TO D8 EDM

(DID Miki 8k - I#8)

☒D Ok
,

D 3'# IN - F-µ# 31 ☒XD -2
CHI 2113 ,
#NbN) e DRAIN BAD 1008

5#

☒D)☒ =D# Xp I

1¥) →☒ xD =D# Xp In

pens aGMe DID µ PV ☒Me

(232-154--78) →☒ OWN ME =D# IF
D I In



BEND A 8 In & HAD - G- =#013 ☒23 -3
BIPIN 8 POO 133,11242 I 1310133

-
FED 013pm A&M D) D8 IDN , PMDB

→ Ik
, lie A) #⇔ 73RD IBID XD ko

. MADD

:(⇔ Ino) ?⃝ -4

"

⇐ in ⑤ pas) ☒↳DDN 743
"

MM % →a) ÑÑ =D "

" BB = EX-IM ) KA kB1=k☒ 18

④①BHIM -EX) 143" ODIN II -440' 18

PIC 14311 Fsk
,
DX 31311 DIX ☒7 DKN KD"

13N ②E DA KI 01C⇔ $310 3k % LNG ☒DX
( EFÉDN 20% DODI

:D ↳3N - DX

P' 'AM D)"DN AN ID MODE eÑ DX

• B)833# PENAN

£8 ABD BOND →⇔ pink xp N WIG
.Bfe



→ODD 73A THAN

É

637 JED € Consumption

"2 ⇔ = ' / """"e"•◦ ⇒⇒⇒ averment

357 KB" =EX Export

1,486 ¥

369 KD " - IM Import÷÷÷i÷
.in#e-TI-TXdrect7aBO20-SUbSUbsi-Y
TDTa✗Pit

'NA -TR Transfer117
AM

@37+232+260-1357=1486)c+I+G+EX= AMMO



GNP = He was 53*-2%7

t.ph#BM2D%DDK331NeD3NDeAiN1lD
30 3N DIK P DN

1%7#

→☒ ☒⇔ e HAD

A" ODIN HAD 30
= É

GNP -- c-I + G- (EX -IMI

GNP = 637-1232+260+(357-369)=1,117

"

NNP =

µ war →D- -2

NNP = pinko 33A - GM HC 26¥ #
*⑦ #D) In ☒?⃝ Xp DID

→☒ ON z =

Nup = GNP - D / c-In +G- (EXIM)
Nip -1117-154--963

In -_ I - D (232-154--78)



MID ☒ He ⇔ ok KAN -

→war

-⇔ XK MAN D) NO 100M

2kW 307 , Hc %) JAN
" É

POW ☒37,6 8 MOD sik >☒
.

Is NAN ① pas
17

:PON DDD

PENN Df#I DID JK HAS -eat

. PHD ✗K

☒WO p,@NO DN = ND HOW

6 pI ⇔) DENNO DID DN =/4 e)ON

.MN APE POND XK DM

☒☒ 8kt #G#☒ D einen - TI -14 ☒point
⇒↑ ON ,

02N
, ① ☒4¥ ) IG ,

KW MON pot

738
,
subsidy - Sub 730010 DAN NND

• XD
/ flk

.

730010 # MD EDM e)ON =D e ' 8 pm

(A) 1-1--1-1554 b

1- 1--169-7--162

ON
,
DODD ON

,
-7101718 PAIN - TD - µ let em

DX8DiN@DDD8jDdNND.xiXDOJiNlkfnND.H'
→ KD 331 HACH , DAD

, HIP)

ADD 1NIDD OWN KID PD PIO) N =/ C) f) 7)① PAN

-

D=194-117=77 TD =TDb - TR



:D@ND or DNA - T - to 30

-11=169-7--162

TD -194-117=77

µ -1--1-1+173=162+77--239

☒☒ ☒RIN IM

NIKE DODD -3

*
"
MRN

"

AK 14 plot *c) N 3171J
NI ANNE DODD GDI AND & PHD

(D) AM *NOW IN# DODD

NI = NNP -1-1

NI -963-162--801

- (3D DD DN ) YD DID DODD -4

DID EAD I ask ⇒KI ☒DDD

*☒ 44 ) PD HONDACING DOJJDDN 3M
TD DUNNO

pixel plot ✗NIKI DODD =D'D DODD

YD= NI -TD

YD = 801-77=724



☒ a MIO

637 XD DI C

232 3 ' I

260 #DB DDD G

357 143" EX

369 KD" IM

154 Me p

169 *prelim Tl

7 XBOX sub

194 Milot TD

117 DAD TR



→DDI BD- INKS sic

GNP=GI+GHEX-1M)

NNP
xD

MIKO ☒⇒ NI TI ( H )

IDO DODD YD

\
"TDC %)

☒ * 17 SP f) C



it

1,117 GNP=GI+GHEX-1M)

963 jÉ NNP
f) D 154

801 mad ☒⇒ NI TI ( H ) 169-7=162

724 IDO DODD YD

\
f)TDL A) 194-117=77

87%0*17 SP f) C 637



5.4.22 5=100 'D
UDA
①NIA ⇒NIDD 70838 Doku 1dB

,# XD 1100
'D

*ODD -75030 OOH KID
,
WID pend A 1100117 -3

XINJIANG Xp Fast

is# DEE AND
☒338 P'☒N ☒ DODD DAN 1130117

.

SKI IN D8 ODD DN DID KO

☒MD PDT 1K ☒IO PDOID, PD 1k +0030 PM)

I

•
I ⑦ ☒ PDOIP

DX'☒X ⇒

☒XBOX) Damn DRM
AND D)☒ 753113 DYAN

☒DJs
-

⇒DDD KW

5- GNP - c -G =I - (EX - 1M)

7301173 TBH

SP = ED pom - xD ☒He 3 -K

SG = 131013 100117
- FINN -2

SF = ipo pom -→XD / PD>31 Z

SP = YD - C →II m3 IN DDos DODD = ICB 100117

SF =D ⇐MD) 700113017

56=(11-+17)-6 DEN / 131013 MOM



BD= - SG = G- (1-1+-113)=6--1 - DENN /☒3 pose

17123118712 HAN M

'M3 I = GI - TT

⇒ABDIB 1433 .

in ¥3

281 382 - DDB 110712

☒DZ 7511 ⇒☒33 DIBB 91C 'DDB 118oz e) DID
PIOINDN

HIDE AND ⇒DB 133

prow £5 DIK KO NBD

→OH DAE N '71013 118712 3117kGK

pH talk e)→8kW

Campo K) -7*3 118712,108
(ÉW SMC DJ →0h PM *D8 (

B

'MB 11871C
=

-59=67

tempo) ith Nico pom

5-I + ( EX - 1M)

S =

SP-iSG-STWFZWXfpoms-SP-SG.SI



12.4.22 77223-☒0 DID
UDA

* 0 JCB ☒33

IN DN ADD' N E →*DE
HAN NAM 770 'd) PANDI MIND

ANDD ☒DEED DID KID

PND BAD→⇒ ③ 30100N A

* DDB AIM pink

HID 7*8 MAI MI DODD XD ) - 0 DODD .
/

I NEDD IBD AN AD DO DO ①
, PHD

Yp= NNP - T

DOD ) ☒D ND WTH POD He -7003N 8D 7.2

☒ 11
"

XD
"

XD AKA I' XIN DAI ↳
JAD '03Nk Db 103 ? 8D Iz IBB DDBDI

:* POK HAI PDB 3

PDB
xD MON

DIXON

pike ①⑦KU HAN ①☒ -Mel ⑦①K Y

PEI

iiahDb1MNpO@WpexEBDD3D-W1kJiBD3N.5.pIND KIDD
,
I#PD

,
D 03ND



4h38 ¥31M APC -DAMN ☒3

831mF DID ①033

DID DODD & MK 331718

APC = c-
YD

3W - 38 → to MPC- site ☒3

f-a③E DDOD DODD DID, I 55 033 DAD

☒①b)

MPC = 0C

JYD

KI DODD P MOM DIED, SP - ED MOM
•BIBS DID

sP=YD - c

APS - 83M POD
0 DODD & MK 83 /NND EDD po

APS =
SI

YD



MPs -
'Te POD

1-0%2 311503 DODD 78K3g '

☒
'⇒ BOD

④ON

MPs=
OSI
AYD

(MPs=¥¥)(APs=¥☐)GP=YD - c)
MPS APS SP MPC APC C YD

*"4) $83M 3) 1*0771731*2 DODD(71017891%3114) Apo'D GBP0B ③① -#
0-80 -_

0.20 - - -

- 80 0.80 -
-
- 80 0

"÷¥"°""""""%¥"°°-0.60

="°!%240-160t-j.io?o.20....o....uoo.so.a.=i.afzuo#o- 0.06 - 20 0.80

0-20 0 0 0.80 1.00 400 400÷÷÷÷



XD TB →DOD ☒337129.1

P53 e) Alf D →DM 00k DX DID ☒⇒ 7610

DID DI e" AND PED P'10107

80 = -710100 ☒3 ④ KNZBD -2

☒Be ↳ →2711 DAWN 73133 DAH]
-

3

pm ) Donor →HI , IN face DOWN Jim
-

f- y

→☒ 7771714⇒DN TH es#3 33#
DOWN

KAI 38127 PBS→ *4 DI KNEAD DACD.lt
①337 He so →Be DODD DID WE

,
0.80

a ID 7K 514 0.807 DEED

70101 FIN FIN €8 ☒De Es GE Eso 100
'D -5

1011170

N ,BÑ BODIE ↳ BE 83Wh pom ☐ HKD 6

•

01808 0181 to

0.20 XD pions ☒ KNEAD is 01142.7

1- 0.80 DX p



ED 11301171 NO DDB yo Ap

SP - YD - C XD POD

3%-7030 ☒ Diy
MPC __b=I%

MPS -_ A - b = OSI
SYD

MPC + MPs -1

APC __ C

FD

APS=sp

FD

APC '_ APS -4



1AM 71kW 1232713750

- TBD D)BPD XK 7143J

17145 * DID

G- Co + b- YD

→100 3773 -④D= 0 Aks C IDN ) PDD ☒ Co

3%) (Ac /OYD) 81010 Db D

☒3=2713 L
☒0 A

(c)

xD

g.
CÉ
"

b) =#e (0.80)
co = *

[( 80)

>×

3033=113 313

D

(HD)



26.4.22 :S 2ND 2ND
6

C-Cotb - YD DDB DID

sp=YD-c=YD - ( (◦ + b- YD) µ DSPD

sP= - co 'll - b) • YD

710102*3=7×117 Co

3% = MPC =Web

:kN43

[ = Cotb - YD KD DDD D)3RD

☒☒ ☒73,200 IDO DODD
,
240 ☒ IDC ☒

80

C- 240 417--200 Co--80 355031W #HI
,
3%

240=80-b - 200

APC =C 240

160=6200%200 ⇔ JD
= -200--1.20

ABAN
0.8-b ⇔

MPS -_ 1- MPC = 1-0.80--0.2



* %) GON 'M 873A

☒No 731503k FEEDS DX ANN G -KA
DANS KAN 23150 ⑨E

€22 ☒G)KD & xD DX past II be

7350 DX 330

:B)DD ⇔> Me

→⇔ DDT

1 GNP-t-I-G-LEX.TN)

2 NNP = C + In + G- (Ex - IM)

C →as 3

I#3) DO

GADD332173
EX-IM 143" #

?8kW

C- Co - b- YD = Co + b. (HP -T) ⇐XD ☒B. K

Met →31N) *D AN #PXK IAN DIED 3

?⃝DON DN

☒ 3003 ☒DID
,
8D DID ☒33



I =#3 ' 30702.3

£ → DIG FDIC →AN XD>31 D8

ANI 2113 , PION,→DX

:D Not

☒D8 ☒3) D8 b) XD 8D DID

pens →XD Me € , G⇔3D 587033
8)☒D8 ED#'l PDD I D ✗Kibo 'KID③ . #I

3'

G = ☒☒3*73 - E

DANI & MIDD ACTIN →~#3 33133
FED 0137550 Ipl D8 ⑧

→*→ Gtf) D)3 PAKI PDBN e) ID 8 poof
fun

?⃝IN DN

-

- N DOIN ⇒10137 DX>3D

INK ) POND 33

(a) IN DN ]→383 TD#

e. To e e

/'-371 DIDK



EX-IM= 155%8.3

④% ⇔ MIN MIN ) ⇔"

,
143" ↳ 10

:8☒NDN

Fe ] i
*☒ He
Get MA

@⑦I⇔ pN D) KI'S IKI It

e⇔ who) ↳FERN#



:#

40=100,6--0.60) c-too-10.6 . YD DAD DID 73RD

30 APB

80 →ñB XD

(KB" / KID" Hc) Roped

⇔ ON µ) SO 98107 PION

F-So -10 . NNP

-10=50
,
-1=0

'
"' ↳ F- To '_ t.NNP.sk/en

(DOIN 'ON ON ☒& tl ADD PION To )

*N D)3RD

F- To + f-NNP plow →3710 MOD

F-TI -'TD µ MD pot

YD=wP-Ts⇔ * →A) = NNP

81270N To 7134

7017N 10131 ON 7)816 t

f-0.253k DOIN 251 . DODD ON PK ,&N0

-1=0 3k DODD ON /
' KPK



Spf P- C -G E=C+I→G 60=80 10=30 c- 100+0-6
- YD

µp=yp+g

87¥
S E -NUP E G I C YD NP
☒D MA DDB 78703 173 DODD "

NIKO DPD ' ISN D)3 xD>31 HAD 71
#

So-100-210-50=1001-30+8-0 100+0.6 .

0
0+50
=80-1--13016021080300--10050

-90 120 270 80 30 160 100 Aso

-SO 80 330 80 30 220 200 250

- 10¥30280300350
30 0 Uso 80 30

510 80 30 40°
soo SSO:i:::÷:110 -80

630 30 520 / 700 / 750
(0%0)%7--073 N ) :# pH % AID

< 3N l
17310 AN ITS#

epio IN A
' KÑT IN DG 73171 I

133 'll



IBN DDE XD

> > 033N IP 'D

TBD DNN →⑦ TO e)313

833,431881
'KIND ISAN MG el

→ 7217311

↓

:D YA
↑ I J ⇔ 173" , BBN DN 3N #XD

↓
"

17110 123 "
,
' 3N IPPV DX ¢5*

,§eN ' 11100 ? DJPON
USO = '= '⑦3N ☒

0=1*0*18

NNPE Get ME ¥ ⇔

NtPe-uso@DNZ3DD8PD-pxNp0Deep.p
,>N
, you) Jen⇔

5- -1=30 TWIG ☒A

S - PEDI 131 § issue MM
,
AID

I - ☒peg →317 IN>③De xD He



4.5.22 DX DM

771810

' 3N ☒DE

NNP
800 -

l⇔
'073N

F

>
' He §
Few

E- = Nrp
200 -

100
-

Nup

too too sbo



⇔ ME ⇔?

*3nA FAHD & JFDD ik IM

%
Me
KNOW

Gen - we saw #37 sik

YAN KE ,
#D8 7057 Tak, p >DON -

7 " ID ↳ K, P
" We >IN -*

71¥ MONKS 6k
, YAN

- WOH

⇐too ) DX >XD - Gen M

E ^

Nup

5- = c-I + G

E- = 450

*
Nope HP

450 JINX



:kNH

:#

⇐ = 100
,
b--0.60) C-too-10.6 . YD TED DIB 73RD

30 D8#

80 →ñB ⇒⇒

(KB" / KID" Hc) Roped

⇔ ON /%) SO HDP PION

i. D)MR 7 G)7PM

→ 1002 173 = Co = 100

3. =D = 0.60

APD) Xp = to = 30

☒M3 DDB = Go = 80

81070N = To - SO

7017N 10171 ON = t = 0

OD) ① N - GON 'M I WIN Me

}/Pe = Co - b. To + to + Go

1- b- (t -t)



:D

✗Pe = 100-0.60 . so +30--80

1- 0.60-(1-0)

µNPe = 180
0.4-0=450

DAD DID't

3GBP DANN DINH
-
IMAN & 2ND DID

, ADEM-11 ODIN
GIBB 133- MID el DIX

.

ABED ✗K INNS 'D -T pain #

( GT) ñB ME 8%300
ÑPe pew →⇔ 8 ☒Devoe DAD

EFI

N 'Me & J 8D -11410# →AND 3310 - XD
3)Pe ?⃝N ' He & D ☒e) DNA 7147N

" ÑÑD
1 - D G →D)3D 7137 JK ②ED DID He

1-7 T POND XK FZT)) 1kt



⇐①A 3) :pFIND ODD

MG = Foot 1

206 but *ID) →DDI DD30
DIDI AND DAN MG FED FOND ?DIED

☒' 737 XK €0 BAND PK Nope Get Me &
d-S G XD3D

Mo =We 1
-

=

n - b -A - t)
O G

: TED Fox am

1

1-0.60-(1-0)
=

◦

= 2.SO

:#Not

to G ☒37 ADD 5k Fxx NM PK

@KODI Nor⇔
1- a Gel E ' 033N 9pA

2. so a € Mpe spew me &

: DOD

: 3N IPOD DEAD
☒ NG) + too 7 31*317 XKDFZZD BAND

-100 P DB AND & DID DODD
- > DBE ex & xiao ☒73

100 - 0 . Go = 60 →DO

Go -0.60--36 - a 253 FED HAD G-
,
show b⑦



i. TED Fox PM

FR # 160 - aDMk3DIcDF3ZDD@NDenyjMlGjfjsIXI1DN3D.H)1Ñ ☒3NkP µ't, PIOINN
Nope HN

Ma -2.50 G- = 160 DNNPE

µ -160=2 - SO

☐Nupe = 400

MT = plow fad 2

206 pan

Ii 2ND ☒A MT POND FAN ? DIED

POND# FRED D&NND Ok
,
Nope with &

1-a T

Dope
Mt= = i-bb.tt)

DT

:p / OIND FDN 71

- 0.60

MT - taro,
= = - ls



8M

+ t a POND * FIX FUND PK
- 1.so - a XP TAN ' He &

:* FOND We

D) 730 Fx µ ) 160 -7 POND sik €☒D DID
NNPe Jew in & D DX ' XD

. 4*-353

☐ Nope
MT =

#
= - 1. So

0T = 160

DNNPE
-100 =

- 1- SO DÑPe = - A.50.160=-240

MGT = PKN 713TH N 3

☒D) e.'Die § *QQ DO 38
,#kN 13TH It

① 12 sik e.8217 PD , T point G→D)3 DID

*☒3D 'BD sik %) etc GT ñ13D 1183127 A
) # KG 'DODD MED 3k , 812 AIKO PANDI

*A PBM

②12 AM) tow ☒ →DDB 7130 DX

→* N M GT *a -1350 FAN ? %

3£ He ÑPe Get me & We' 2373

EDM) 17 T FID HI 1- a G sik 63253



:\#

DT = DG

Mot = DNNPet-bo-G-1-b.lt- t)

:D

Not = 1%8%+5 :◦=^

IHNEN

1- 1 a →HI DAD xk A D8NND to
+ 1 7 0101 ND Ste Fa PEI

+ 1 a Gel Get Me @

i KNEB

+ 160 - a →M3# XK 7*0 DID

43*7%3 ) e- N→↳ZD -403nA ✗ Dk DANI

Gen me & % Me, Mr



MGT = %e =p DT - DG -160

☐ Mat = ON }Pe =

,
ON}Pe -1.100=160

-160



10.5.22 313523 - €
8M

PDX) repo €6 Gee so 03N DA

DEOK QI
,
☒47 23M & DDN3D

5)BBB - e) DAN 12131 l' por
s#37*611012 '3NXX3NlDITDBI2DNaQNNDD3NDXk7@fiD.TD Tid GD DOPE 7317 ⇔

- 31363 a # GIN

110 166 DID 0J'D
"

P ⑦N
"
JK

" ② GOD "HOOD

XD PINI 1929 DID ⇒5kg Rob
DGGD-IDSDDBDGNNRXKK.la

228 ☒30 Dc →→Do ¥63b IN#* 38
"DID 3'D

"
183NKD

313-6211470 → ③ IBN

YF ACN AD & *e) - ⇒ KG xp# & j

PINK 2100873171 IN GPK WIG , ¥-4808#
7130J , 480 ②KG ☒0850 ) plus 9K

,
81

⑧DO xp] DX

y
'/ . I-DOD 'Ñ# DEAK 7)A- DID 3710073

?⃝ex⇔ NNPe=uso



① " 7 ⑥NO 313803

:p⇔j

480 (YF) →KG ☒☒ &
G- 100+0.60417 )C→ DIB →BPD

30 38¥
80 &N#☒D)→DB DDD

so 08107 PAN

443" Ha" 1k) → pet

YF --480
↳ = too b-0.60

10=30

00=80
To -50

t=0

Gentile ⇔

NNPe= Co - b- To - lot Go
-

1- b- ( t - t)

w/Pe = too -0.60-50+30--80 180

1-0.60=(1-0)
= -0.40--450



057 GINN 713823 CDN# DID#E
am> GD

1

up

E em

7710017
raw

F- GI - G

*

?⃝
83'D 4310 / 3523

B

456 - -
- -

- - -

-

☒
'

¥
:

i Pk)

! 331×00 >
>ope

Uso
30 480

YF

Nope = 450

?#

771007 & BD >⇔
'He & 3347N DDE DKW

4N
' 23 )

→3178 K'We 83 'D 121881
D)3h03 - Paw

s e 73'M AN I *Ipkf
petal , 13'D JK µ

DESK 5553 ))



DAMN -1*010 '3N

E→ FEDS : DX

Fez fast - 206 G 'ED 1

Plow fad -376 T 2

☒ kN 713TH FDN- 217 'D T - l G 'II 3

DÑ3D Jk 52278 72ND DX 2ND :#
DEED XD ✗ K WID

☒ 6%-206 G 1

Ma = % = ¥11 -t)

No = 10%(1-0)=250 - a

NUPE = 480-450=30

30
= 2- SO 86--2%0--12

027 G = 80+12=92
5%0123 Ge



- FDN DOD

127 GD Ic ↳ 72ND He

12 - D Ge ' E FBN D

Get Gentle &
-→OD DEDKDI 12-2.5=30 a

010th FDN -226T '

2

IMT =

= n-b.ci - t)

MT 1- o.jo?#-o,---l.so

Mt = =
- i. so

3¥ =
- 1.so → D-= -20

037T = SO -20=30



POND FDN DOD

- 20 a POND XK 1%7 A&M PK

200 GET 750 DID

(20-0.60) 120 GET →XD D) 133
12 & 5138303 XD neo "

Gen me &
- 20-(-1-50)=+30 D Get

131kW 013TH FOX
- ⇔ AND T - I G 3

1- b
Mat = =

-

oT=dG
1- b. (1-1)

Not
=

, ,
= Mat = ⇒

Mat = %=s

MAT
= 30

= 1 →
DG -30 0T -06=30

box G = 80+30 =



713503 - PON 907

Ma - Dope

JG
= 250 86=30

-2.50=12

Mt = DNNPE ☒ =
= -1-50

-1.so
= -20

Mat %%Pe_ =, OT
-

-OG

DG -3-10=30 07-30



17.5.22 :D3k HAD →FAD IN
91810

☒DE PAAN# DID DBk

PAID ✗"③ I ID
231'

"

IT DAD
"

PAN D)3Rd →DID ☐

⇔ ⇔
7000×1317) > SB

Ge☒☒ YH IK
eX↳N

"

en \ EATIN ''
e is

☒D)2)DIZ DBJOJYC

*④ potent ps >AND ) 73N NIP

E- ☒ 'He

NUP

E=C+I+G

-
-
-
-
- - -

-

n A
DAY ✓ I

3138
'k
>②

,

73'D >☒ I
45) <

→◦
> !

YF wP=ys◦ Yf
UP

420 µ, we 480

3€ 087 7kGBP#

713£'ktc⇔ D)36131kW



:DKG ☒0072

YF ⇒KG ⇔ 6 *
YF=Y2o

21081 ANIK 2108573171 IN 6 ok
,
2ND

" fix hoaxes
420 DID '

PIND D

④02 XP ' DN D)

:p⇔j
420 (YF) →KG ☒☒ &

G- 100+0.604DIED DIB →BPD
30 D8#

80 &N#☒D)→DB DDD
so 08107 DOIN

443" Ha" 1k) → pet

YF = 420
Co = too b-0.60

10=30

00=80
To =SO

C- = 0

100 - 0.60 - SO -130+80

Nupe =
1- 0.60 . (1-0)

rope = 450



:#

µ & 2315s →

033) N He & BAN

-71308 'k - p , > IDN # Kale Ipa#8 e)

DROID >KD , → apt DN I' →" 8 P' Kor

D)350*01 PINDI DA

.

F- 3 XK 313178 I'D ⇔

⇔ FAN -206 G e. 1

☒KID Jky⇔fD&MD 03 DND

⇐ON y⇔d 'b) ☒↳⇔ →☒ Ic ⇒Ii

Dope -_ YF -NNPE

DNNPe= 420-450=-30

Ma -
-% = i-b.tt)

Ma --1-0.6%(1-0)=250

3% = 2. so =gG=
= -12

12--1113⑧ K X2
BD G

'
= 80-12=68



pan FDN -200 T
. 2

FOND# f3eDF⇔3 7£ ⇔
D)36*2 DX Xk 130

We = -30

MT = -

0.6
-

= -1.50

1-0.6-(1-0)

Mt = = - 1.so

-3¥ = - 1.so
= -30

Iso
= -120

237-1--50-120=70



1311W 713 FAN - T- l G % .

3

P ☒333×10 14378 76dB 173 DND

✗ '8D 25133 ②12MW) POND 1kg438
713 ⇒

1- b

Mor = = _

1-b- G-t)

1- 0.60
-

= 1

1-0.6-(1-0)

- 30
DG =

e-
= -30 =DT= -30

037 G
= 80-30--50

237T - SO -30--20



24.5.22 : ⇒

10718€

☒2ND PDONI PAD '83Nk XD ⇒

.
#12N →31171 Pet ya 183NKININ KID

i. 403553'D ⇔ DION 3P

DDD ' 1718- µW0D3N BIND
☒ Ip> TIME 21730 317k -

"

70337 ON "
8017 Pe KID

pet- (piñons ) e) FZ e'PDP DID @Dlc ) DID
⇔ >A)

µBN 2)PDN HD

10160 , e'§, /NBN *83N# pend FDIC DSD PDOD#

→1141£ e# PMDD e D. talk

e☒PD IN , e'DDOND e'PPD µ3N e) 21 N 7810
*ya is - →KIDD %)

I⇔ XD I or e. py Pet liaisons ee
:* 8 ñ8e

3

→☒CNI IN :µBN-
" isopod

YAKKED) ¥3 '0750 →183*0 -

" I Lost

WHAT is # 175 : e. WOO @Nets text

PDD & 131W

postie, e'01 : µ ) 33

e'IfHe -7110 "#D: 51Wh 33
XD" 0%0 - e.ODD 0 :/3kW



KNEIP

40 700 INBN PIN PAID 7533

Def *⇒ DION & HAD PKN .

K

→XD"#D P ' 03)

100 % -☒3RD ⇔) If µ#
20

80 ✗ 1141

100 £50 100 0550

BED TOO

: ↳⇒ 0100 -1

⇐It →ACN ) just

☒D) DDP ✗BN -11013 /NBN
= 10030100

60 = 20
+ 40

:& D)NO -2

His)D PAID 183NKG

→ PD → 3D µ#
= to DNT

140 = 100 1- 40



:B 723337 0171.3

, soap 30N MID 31M

YEO JIN PAID e.MOND DD XK

⇐a) DDP MSN
R= éio Mapo

3-37 ODI R = 1¥ = 0.20

☒27120 e- WDD

to % 12700 2>PDS CFDN 503 D:*
.TN b) D 37071

- 10 2 33 ' DPB µ#

I#ID e) 0J

+ to ☒BRO -110 Dap> µ# HI

#
1)

+ to to ⇔

1-10/0.2=+50 →Bp 'D +1050177
:D@

Go DX#

+ So 0 -50 0530



*c- PDDTDI & PKN

XD' ' f '

100+50--150 3RD Dopa µ#
20+10=30

801-70--120 DX

Iso / so

DQ}D /NBN + D-33 µW -1027 0100.1

(d) Go = 30 + 30

3312 -1 APBA / NBN = to>DINT
_

2

180 = ISO + 30

Coast]

¥ = 337 OD ' R . 3

Bpa

☒AD KD 31--0.20
120



APD ADHD €32 to DID-
"

'Nyo 'D8
" TD DDA

☒① DID D
, /NBN

⇒D" D 0103J

⇒xD ☒☒ INN
'

KPN

+
10 +10-0.20=+2

→114117
+ 8

⇒3310 Days µ#
'

ops

+ 8 8-0.20=1.6

+

6.4 Iki

TDD
6.4 éÉ xD 2 Dopa MSN

6. Y -0.20=-1.28
512 →*①

So Bpo i 10 TAP µ'S 317 'D

a-40 ✗ IKI

So 0 SO 0



31.5.22 413117 ' D8 - to pie
1118A

→11778%3 DID 734 too

'b' D8
"

) e. is#D ipod ps3
"

fete
"

_

1

ED 1178 'D BIN XD '318 70033.2

:* 50033

- 4*373 ) → SKY'D #'3N N
,
31k722m )DGWD.CI#P")#KIN '3N FAN

,
LEI ' ) DX PO

AND 0100 ,MSN e'0103N AD
, /NDN 0103N XD

Booboos , /NBN eiost set p①DT . e# pens MOOD

→xp photos →Not

:[all AFD
☒e' #'2N & 132ND I

D)DAD KV 'kN38 201N IDS

⇐ 0133 & KS) ⇐⇒ & DENNIS £#
pit >XD 112131 % ' NI 1322ND 28,2

Pb ) ⇒KIN '3N ☒N

.
It 322373 ON # ☒pl /NBN 0123N, p



:ÑQ PD PKN - 1%6

ADHD prob

⇔" """

f
""" ⇔

a&NN8'kQ#→Gun * ①

D XD ③ * xD 'D⇔p•ppxrxk-
0

D)Opal ⇒BD AD) - #DX µDN .

1

Joe , & ⇒POD D-⇔D
"

IDN 'D NO 378 D e 'KIK BK

µ / 3N lfsk We 1)
' k E) e)XD

Cfpb) MSN 0,2235 IT

- DUNN ⇒① -2

→#A- ☒A PDD sale A&M
PDD 2ND 898 Pio>ND

- PPD APB -3

Poor P'003 0750N e
" >DOWDp

"DFID *⇔ " ☒

- Fis#☒ Y

@ I e. MOND e)PDD@ PEND 1133330
. P' '301N PRE



00W) TÉNI⇒3.1
*Jaw) Nss# KID ipso & ⇒8D ODD

•

5h DD FED & ⇒8D ODD

DEMO #kt ) taek -

2

D&W8 G) taek µ> x Jae , go
^ -3750 118712 /NNT

→182 DIRND→KZID All ] DID
e-01 ND PAN TREK@

HIM -3

126 DEN G pi ⇔ Tae '
⇔ÑNN CHIEH Ék & DNI My

→BDN 71dB THE PD )
,
Éek DRIN BIND
7MGBP fate µNf⇔

☒DO 281N / →→ ⇒ 'e
, DX PDO ZEN - TÉKD

DADO ÉKa DDOS eD

5114183.4

,
e-DDOND PADS 007118 is>xD PDD

.
PHD HK

⇔⇒ÑkMK⇔ →DD )
"

)##
"
✗KDP ÑQ

. pen- DID# 882W DI
.TK/G →XD XP ' , DX All ↳



⇒ 01001µF MBK

50680317 PIC 314131kt DIDO 773 19kW g)
ON

FOOD 317km To@0TH M3 , MIND IN
] DK

.
I' > "DDD 1k e)01 & 330

- Harold ix. 1
4*6*8 does ee) IÉN IN ik ⇔ Jae '

pin - Tae PKN

→☒ 'XD e'01 DHe

+10003ms µ)9N too pit ⇒ IN xD ☒Ip is

-100 DINO INN -100 TÉN ⇒BDNTÉN IN



-DINH YAK .

2

a☒K3D 1M£ INNS talk xD E) lips
DID DK DERN a&NND

.

Ise is , -BD )#ED)
(etc Oj pointsmen ) →⇒ 3D

-7ft 2101331210 MS DX

⇒Wwf Ak - Goes PKN

-XD#5) pio≥ D①D

+100137W MAN +100 7km4KIK ☒WE talk# %1 I-100135M MIN
- 100 DUNNO 'KAK 'Mek DIADEM

* IX.3
Heap ☒ →BDN H&m ÉÉK D) Ip Gabi#

•

DR38 ÉÉk IN 1k

☒ ⇔'D - FI ' 13kt

→BADD pity 5)②

+10° #"° N f + ' ◦° / "⇒* '¥" "
°

-100 IND /NBN
- too >→ or PEKIN



ipod →KIND -4

⇐⇒ ' ' e ⇒ ) 0*4*4163 Job

.PH, → 114167 D)③ ,
D)PZ My tree ⑤

e)PPS# - ☒lip> 19kt

IDEA e# $80s

+100 DINO NBN +100*081114 2311 xD He

-100 DINO ABN -100 ftp.DFXIKBDTOYDJI

- D)AN DID

8D 73 µ DAD 7147 Dk 314 ☒03 8 2080 l'

E. D) PIN / 31727,712137 MID ) PDD


